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301 LEt2d=s 396,000 379,912 16,088
= 198,000
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_4_




or
3l

Ok

-

ol

=

n0

KIo

Bl

429

H3r
il
K=

62,622

=
o

<J

600
400
480
750
2,500
6,300
6,300

400
400
63,051

7,056
4,469

352
2,235
15,600
8,320
4,680
2,600
9,975
3,090

140
1,545
2,500

900
1,000

=
e

[uind

&+ 5,00004

[uind
e

& * 5,000

50,0002 » 1504

2,000& = 2000H
40,000& ~ 12&

120
500

Xt
&

=2 Kl

=
-

-

-

00
<+
80
O

1+ 30 « 33

=
=

70,000

-

00
s
&0
OH

ol

ok
K
0

ol
Ho

400,000& = 12l

30
0B
Mo
Mo

Kl
H
il
=<
Kl
<

1,759%& 20004

5,3202  35kw » 128
A+ 1202+ 3 » 10Al2t

[l
e

2 x 1002 = 8 * BAIZ

e

o
[uind

5,320& = 35kw * 2JHA » 123
1,300

1,300

—SIIH S A

4
&l

m
US
xr
Ul
oY
4
o+

3

[l

2 x 2

e

[uind

&+ 1,545m

70,000

2,000& = 1,545m
1,000

1,3008 = 100€ » 10 = 2CH

Al

H

OAl£ZHIK X

[uins

2 * 500

5,000
15,0008 * 30& * 23l

K0

<
R0

e

w

o

800

1,000, 000&
800,000&

= Xl2ell

— oo




SN selEHE
=R R R

9l SOt ALY (B9 &2
SA-BY () - HRAY - BES 0f & o4 e HI DS 2

OXtetdd gl 30,420
—AESER 3,028,000& = 4CH 12,112
—28s =t 3,253,000& = 2CH 6,506
—JIELANE 3,328,000& = 1CH 3,328
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10 HAIEHIE S S 2,000 2,800 A800
Osgddgous & a41 2= 40,0003 = 10& = 23 800
OsMsENglisns S84 243 20,000& = 30€ * 23l 1,200
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202 O 4,000 3,000 1,000
= 4,000
01 =LHOYI 4,000 3,000 1,000
ORIST=EAIY =& 20,0003 » 4% * 50 4,000
& 4,000
301 et d =z 6,000 6,000 0
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10 SAAHIEAS 6,000 6,000 0
ORIS== HIX|I0HY AdI2a 1,500,000& * 43 6,000
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402 BI2HKHE01& 100,000 200,000 100,000
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301 LEE2HS 10,000 0 10,000
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OAHHESEXI A (12,500ke) 10,000, 000& 10,000
NS TAMA G EAE AT 3,761,320 1,774,969 1,986,351
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e 59, 864
= 3,651,456
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= 22,500
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OYst+2H| 3,000
—+E4E3 222 NN 3.000,0008 * 14! 3,000
202 OiH] 6,000 6,000 0
03 =22l2i20it| 6,000 6,000 0
OMLAAZ HE &HIIBLE Ol 3,000,008 * 2% 6,000
307 212+0I & 20,500 20,500 0
VEIEINEES 20,500 20,500 0
OBH 2l AIZ N = 3,000,0002 * 5% * 70% 10,500
ogzE X 3,000,00020 * 5)H IR * 50% 7,500
OE22 HX 500,002 * 100K * 50% 2,500
IS YEFHAY 5,719,903 1,085,962 4,633,941
3 3,517,000
S 138,000
= 2,064,903
FEUm 52 1,608,517 844,860 853,657
= 578,000
= 138,000
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M sHIl=dH
i SENSRE
&l FE L0 HSSHALY (el &)
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
= 982,517
201 LBt 3| 426,657 198,000 228,657
= 181,000
= 245,657
01 AtS 22l 401,657 173,000 228,657
Oget=gH| 401,657
—EE2nH(A2E) AHE 2 500,000& = 123 6,000
—=SEAES MBHKRXE =] 25,000,000& * 8.8% 2,200
—dFHMEEZZ0SE AHRKX 2=H| 21,000,000& = 1.3% = 9 2,457
—Zgen 21 381,000,000& * 14 381,000
= 181,000
i 200,000
—E2= M 3,000,000& * 14 3,000
—&H2 2 S5 S5 1,000,000& * 7A 7,000
03 A2 EH| 25,000 25,000 0
O=HAZ&SE2 RALX & S 12,500,000& = 22| 25,000
202 O4Hl 4,860 4,860 0
01 20 4,860 4,860 0
OSZENAE ALFH 150,0002! * 3% * 128 * 0.9 4,860
306 E¢= 750,000 300,000 450,000
= 150,000
= 600,000
01 £¢= 750,000 300,000 450,000
OLMESAHALAL HB2F (MEHEAY) 300,000,000& = 14 300,000
= 150,000
= 150,000
OSRE Ot & - & - 2 &3 450,000,000& 450,000
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=PI
ol sEN2RS
Sl FEUT YESAY (B9 &)
- _ _ XN -
SN HB L SA(3H) - MRAY - B S 0 & 2 e {ImEF]
307 212+0IH 120,000 120,000 0
=l 100,000
2 20,000
04 QIABALRE 120,000 120,000 0
OBYSDIBEN (M SLAY) 120,000,000 * 14! 120,000
= 100,000
2 20,000
402 QI XHZO0IH 397,000 222,000 175,000
=) 147,000
= 138,000
2 112,000
01 UAREBE 397,000 222,000 175,000
OYMIBE 4Zst N 14,700,008 * 109H2 147,000
= 147,000
OFYIMALI| IS4 SENBBY 55 160,000,00028 * 14 160,000
= 48,000
2 112,000
O=GI0S YMIHB AIE N (HZASIAY) 100,000,008 * 141 * 0.7 70,000
= 70,000
O=de 2 &5 HZAL XA(WEAALL) 40,000,0002 * 14 % 0.5 20,000
= 20,000
IR B 71,386 37,102 34,284
= 30,000
2 41,386
101 Q1248 13,286 11,282 2,004
04 JARZRIISES 13,286 11,282 2,004
OYWERE 2ol 13,286
— o121l 33,0002 * 19 * 290 9,570
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A =4dH
=R 22s
= It 3stAre t A
SN - HE - SI(E) - NRAY - BAS & oy e =2
—mUZ2RrE 33,0003 * 1H » 50 = 1.5 2,475
—40E2E= 12,045,000& * 0.103 1,241
201 LetEHH| 18,100 12,280
2 10,000
= 8,100
01 AtS22/Hl 11,500 10, 180
Oggt=gH| 6,500
—dFd RoBHAAY A 125,000& = 123 1,500
—ZEJMES MNEZZ2INY & 29 5,000, 000& 5,000
& 5,000
Oo2g=¢ 5,000
—MEZZ ) 2ArY 125,000& *403| 5,000
= 5,000
02 =234l 6,600 2,100
O2322= ¥ MA 6,600
—&IIR3 430,000& * 128 5,160
—=ER3 50,000& 128 600
—ste= 70,000& * 123 840
206 M= 4l 20,000 0
= 20,000
01 Mz bl 20,000 0
OFEJMEAF MEEZ208 M= 20,000,000& 20,000
= 20,000
401 AlEHIZ 2 20,000 20,000
01 Al&HI 20,000 20,000
FE2MEIF 2 MA=2 4 20,000,000& =+ 14 20,000
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M sHIl=dH
i SENSRE
&l FE L0 HSSHALY (chel: &3
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
& 190,000
—QMEANHNELde 4=28 2 XZA 114,000,000& * 13 114,000
= 114,000
301 Ypt8aag 4,000 0 4,000
= 4,000
10 HAAHIZ &3 3,000 0 3,000
O=sgel D LB 5,000& = 200¥ 3,000
= 3,000
12 JIEtE 4 1,000 1,000
O=sgel ZAt=E 1,000
= 1,000
402 2I2HRHE0| 611,000 611,000
= 505,000
= 16,000
01 2I2t2 611,000 611,000
ot n E5 2 20,000,000& * 1JHA 20,000
= 20,000
ogma ZHOHE K &AL 750,000& * 540ha = 0.8 324,000
= 324,000
O ntal oF AlE 45,000,000 * 1E+X] 45,000
& 45,000
O IAIBN Al EEIHBEEX =4 95,000,000& * 1&HX 95,000
= 86,000
i 9,000
o= HEAS 36,000,000& 18,000
& 17,000
i 1,000
O2Its==5d Ea5Atd 45,000,000& * 10 45,000
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SN
L SEX ALY

el

X ZH
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sgll=dd

sgJI=X&

o

10
P
10

0x
o

- EHRI(E) - NIRAY -

Off &4

2 (A
R
J2H

Ol

\J

Mok

545,483
5,429,860

M OH AT O

949,843

14,750
150,000
6,224
5,000
773,869

746,364

203,479

17,425

26,71

AN9,286

no
=
e
T
H0
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02

10,675

9,295

1,380

O
e
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02

0
0p oK
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=

S

o
=
40
o
=2

i
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=5

RS
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>

800 » 5005 = 12&
5,0008 * 1008 * 58

= 0 oo

|
it
1]

Z= 0
S
HL 1

(Rl 1}

]

JISALE HI& 500& * 1,0000H

=5

S~y
He

g
>

2703 = 2708 « 128

wx OF ok Mo

W 0 12 FO 02

0K

==

250,000& = 42|

8,800
8,800
4,800
2,500
1,000

500
1,875

875

875
1,000
1,000

7,800

1,495

1,000

380

6,750

15,416

A\8,666

112,500& = 598 » 128
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8,750

A2,000

H

15,500
5,250

42,944

AN2T,444
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2,500
7,750
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15,500
5,250
2,500
7,750

42,944

AN27,444

01 =LHOYI

04 =M a0

(OPNE=

ONMZRNEAHLS &4

o0
NES

10,500, 000&

5,000,000&

M

UL

10,500

10,500
5,250
5,250
5,000
5,000

2,500
2,500

24,544

18,400

N 14,044

A 13,400

M M

122,101

6,224
115,877

122,409

A 308

101 1A

M) A

42,297

6,224
36,073

42,605

A 308
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x
=
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0y
tol
114

33,000& » 4% » 180

33,0003 » 4% » 26¢

27,060,000& = 0.103

33,0008 » 2# x 150

HT

42,297
29,848
23,760
3,300
2,788
12,449

9,900
4,950

42,605

A 308
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M sHIl=dH

M sENEMY

tel sglI=Xd t A
SN - HE - SI(E) - NRAY - BAS 01l &k o e =2
= 4,950
—5222E 33,000& * 298 * 21 1,386
=2 693
i 693
—AEE = 11,286,000& * 0.103 1,163
&2 581
i 582
201 LBt 3| 14,804 14,804
02 23234l 14,804 14,804
Ozl 10,000
—AMSANEE 29 1,250% = 1004 * 80 10,000
OAE&HI7XHI 4,804
—ASAEE TH(LHAALS 18F) 120,090,0008! * 0.08 * 0.5 4,804
206 M= dl 24,000 24,000
01 MHZHl 24,000 24,000
OASAMNEE 28 Mz 24,000,000& 24,000
301 LetEasg 1,000 1,000
10 HAAHIE &3 1,000 1,000
O SAMEEEIS  UsEA B4 5,000& * 50 * 43| 1,000
401 Al&HI LS04I 40,000 40,000
01 Al&H| 40,000 40,000
O&SAHE HIELM & ANEES 10,000& = 2,000m’ 20,000
OXtdist & MASES MAIZE FHH|(1,445m) 20,000,000& 20,000
sI=8E 82 M X 5,000 5,000
& 2,500
= 2,500
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M sHIl=dH

M sENEMY

tel sglI=Xd (chel: &3
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2

201 Let2d| 5,000 5,000 0
& 2,500
i 2,500

01 AtS 22l 5,000 5,000 0
O=sgJ)I=3E 82N XN& 20,0003 * 250% 5,000
< 2,500
= 2,500

sEXNE Jlgtx 4 366,940 549,300 A 182,360

401 Al&HI YR OHYI 308,340 509,300 A200,960

01 Al&H| 300,000 500,000 200,000
Osg st 300,000,000& * 14 300,000

02 eyl 6,180 6,150 30
Os=g e 300,000,000& = 2.06% 6,180

03 AIZ20i4l 2,160 3,150 A 990
Osg st 300,000,000& * 0.72% 2,160

405 KHoHESHI 58,600 40,000 18,600

01 T =SS HSHI 58,600 40,000 18,600
Osgusta 3+ 58,600
— T & A 3,600,000& 3,600
— WS (ZCIASIIXM) 35,000,000& 35,000
—dAEEL 20,000,000& 20,000

HE DIMS YA 29 403,830 0 403,830
& 150,000
= 253,830

206 M=l 10,000 0 10,000
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M sHIl=dH

M sENEMY

tel sglI=Xd (chel: &3
- _ _ NUE &
SN H-SR(EH) - NRAMY - B 0] &k o G I RE2

01 M= dl 10,000 0 10,000
Ozl 0|2 A L 10,000,000& 10,000

207 A0 2H| 10,000 0 10,000

01 21ESHI 10,000 0 10,000
Olld=te A1ESA 10,000, 000& 10,000

401 Al HI YL SO 307,830 0 307,830
= 150,000
= 157,830

01 Al£Hl 300,000 0 300,000
O0|MSH A Al=(330m) 300,000,000 300,000
= 150,000
= 150,000

02 Zeldl 5,670 0 5,670
Olld=tiga &= 5,670,000& 5,670

03 Al&Z=R04Hl 2,160 0 2,160
Olld=tiea d= 2,160,000& 2,160

405 AHoHESHI 76,000 0 76,000

01 Tt =ESFH SHI 76,000 0 76,000
O&Ed 0lM= ALY JIXTH & 76,000
— OIS HH2DI(2,600 4 *2CH) 28,000,000& * 2CH 56,000
—0ME tHA DX P (LEIIS6T) 20,000,000& 20,000

s¥ll=gsid 19,047 0 19,047
= 9,500
= 9,547

101 14| 10,047 0 10,047
= 5,000
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M sHIl=dH

M sENEMY

Sl SIS (Etel: & e
_ _ _ HEc -
SH - EB - S(BH) - MBAY - BES 0l & 24 Sl BB

= 5,047

04 JIZAH2ERNSES 10,047 0 10,047
OsXIIsEE N 10,047
—Q121H| 33,0008 * 1% * 230 7,590
= 3,795
= 3,795
—gazoLy 33,0008 * 1% * 462 1,518
= 759
= 759
—a2E 2 939,000% 939
= 446
= 493

201 Lere gl 1,000 0 1,000
= 500
= 500

01 At el 1,000 0 1,000
Oger+gY| 1,000
—AJ|SAS AIE 1,000, 00084 1,000
= 500
= 500

202 01t 1,000 0 1,000
= 500
= 500

01 2UH0il 1,000 0 1,000
OtDISASAIE BE4E 1,000, 00084 1,000
= 500
= 500

206 TH2HI 7,000 0 7,000
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M sHIl=dH

M sENEMY

oo M50l S4 (69 &2
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2

OFH=ZZFER =&, UAA WR3| AKX 24 10,0003 * 200 2,000
OHAs, HEYU SdX3 MY 20,000& * 1009 2,000
s3I s & 22 20,000& * 2009 4,000
& 2,000
= 2,000

307 QI2t0IA 89,000 70,000 19,000
= 5,400
= 83,600

02 QltaaEx 89,000 70,000 19,000
Ogs3z=s NE 1,000,000& * 209 20,000
O=s&32 2MEsE A 6,000,000& * 39 18,000
L= 5,400
= 12,600
OsENF0lgdyd 22X 6,000,000 * 49 24,000
OFH=sg3Zel 54 2 HAXA 1,000,000& * 102l 10,000
Ogt=0d=sgo 54 & #HAXE 1,000,000& * 32l 3,000
O&= & e sg3adolils XA 20,000& * 4009 8,000
OsZ F0dsge 22H2 NFAY 1,000,000& * 6% 6,000

402 I HE01H 50,700 26,775 23,925
= 6,300
= 44,400

01 It EEX 50,700 26,775 23,925
OsJtE=<0l XN& 1,785,000& * 20 35,700
= 6,300
= 29,400
OAse 84 L =X XA (90F) 15,000, 000& 15,000

sl =4 170,836 163,636 7,200
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M sHIl=dH

M sENEMY

el MRSl |4 (==L
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
OsZ=XNEis HHNsEA 900,000& = 10743l 9,000
OsElcisd , EHAUSEAB A 40,000& = 30 1,200
O4-Halsd & S, =29 UsEH 40,000& = 309 1,200
sEXNCXte gsX& 20,000& * 1009 2,000
& 1,000
i 1,000
307 212t01& 23,136 16,136 7,000
= 6,568
= 16,568
02 BltANE X 23,136 16,136 7,000
O4-H=asd ALY 1,060,000& * 1013l 1,060
= 530
= 530
OZ=4-Hal A HHEs XA 5,000,000& 29 10,000
= 5,000
= 5,000
O&dIcssasls A 10,000,000& = 1CH3I 10,000
OsEXNTA SEXE ALY 2,076,000& = 1JH2] 2,076
= 1,038
= 1,038
402 QI2ERHE01M 75,000 78,000 23,000
01 BIZHGEEX 75,000 78,000 A 3,000
ogms Z&J| N& 40,000, 000& 40,000
OgmEs Z&eA X 1,000& * 20,0002 A 20,000
ONts=ZEM Alg K& 1,500& * 10,0004 15,000
SPZHoALE 53,800 0 53,800
= 39,200
= 7,300
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M sHIl=dH

M sENEMY

ool MRSl Su (el @e
A B S(E) - NRAY - BES 0f & o e HIDZ2
o 7,300
307 21201 A 53,800 0 53,800
= 39,200
< 7,300
s 7,300
02 22t oEx 53,800 0 53,800
O=sgagdaed & 5,380,000& = 102 53,800
= 39,200
< 7,300
o 7,300
SHSHUREIENES 67,938 67,938 0
= 13,590
o 54,348
201 Et=dH| 67,938 67,938 0
= 13,590
o 54,348
01 Ab=2t2lH 67,938 67,938 0
Ogt+=EH] 67,938
—SFH=sgdIe RSEEXN B2 80,4003 » 845% 67,938
s 13,590
o 54,348
dEsgo WS 27,900 27,200 700
201 Lete gyl 25,700 25,600 100
01 AtR2teldl 25,700 25,600 100
Oggt==H| 25,700
—MlEsEALSE WM = 5,000& = 4,000% 20,000
—MolEs&Aus S+ M 50,0002 » 140H 700




M sHIl=dH

M sENEMY

el Meseiol |4 (ct9: & 2
- _ — N H
SN SRI(BH) - MRAY - BES 0] &k o8 e Hl =2

—Moigs&EAHns wa M 50,000& * 203 1,000
—MolE=s&AHus fFWM M 1,000& * 2,000% 2,000
—HEEZ=uWs WMAMZE 1,000& * 2,000% 2,000

206 M= dl 1,000 1,000 0

01 M=H| 1,000 1,000 0
O=go 2Asus 2 dAMNME 7 20,000& * 5& = 103l 1,000

301 EtBAS 1,200 600 600

10 HAAHIZ &3 1,200 600 600
O, 52t =g dR2J|ls UsES 24 40,0002 = 309H 1,200

sPdZII= SHEAZEF 6,000 6,340 A 340
= 3,000
= 3,000

201 Let2EH| 2,000 0 2,000
= 1,000
i 1,000

01 AR 22| 2,000 0 2,000
Oget=&H| 2,000
—sJ3dZZ4E BEEdHE A 5,000& » 4005 2,000
= 1,000
= 1,000

202 O4H| 4,000 6,340 22,340
= 2,000
= 2,000

01 =Wl 4,000 6,340 A2,340
O848 bl 20,000& * 2009 4,000
= 2,000
= 2,000
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M sHIl=dH

M sENEMY

el Meseiol |4 (ct9: & 2
SA - H O (BH) - MBEAY - B2 Of) & 04 &%ng; Hn=2

SMEASTANESL 5,040 5,040 0
= 5,040

202 044l 1,680 1,680 0
= 1,680

01 2| 1,680 1,680 0
OsMEASSIHAS AL 20,000& * 42=0F * 23] 1,680
= 1,680

301 et A= 3,360 3,360 0
= 3,360

12 JIEI2 &3 3,360 3,360 0
OshEAERANES sIIEL 80,0008 * 42=J} 3,360
= 3,360

S QIE 11,000 6,000 5,000
= 7,700
o= 3,300

402 QI2HXH=0|F 11,000 6,000 5,000
= 7,700
== 3,300

01 Q228X 11,000 6,000 5,000
Os=sgoleH 600,000& = 10Y¥ 6,000
= 4,200
& 1,800
O=sY9sYHER 500,000& = 10¥ 5,000
= 3,500
= 1,500

SoE 202y 13,320 27,558 A 14,238
= 6.660
o 6,660
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M sHIl=dH

M sENEMY

el d2sge =4 (chel: &3
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
301 LetEaag 13,320 27,558 N 14,238
= 6.660
i 6,660
10 HAAHIZ &3 10,540 24,458 A 13,918
Os&EN&l 4= 1,400,000& * 1043 1,400
2 700
= 700
Oa&EJl=s U= 7,000& * 560 3,920
2 1,960
= 1,960
OE8sHI| Ws(285Y) 2,000,000& 2,000
= 1,000
i 1,000
OS3=E8 sgo H412Y 7,000& = 460H 3,220
= 1,610
i 1,610
12 JIEtEA S 2,780 3,100 A 320
O&EJIzu=s A= 200,000& * 6H 1,200
= 600
= 600
OF=2g=g0 A2 IsLASE 1,580, 000& 1,580
= 790
= 790
so)ls22 BEE 9,000 9,000 0
= 6,300
i 2,700
101 el 4] 9,000 9,000 0
= 6,300
i 2,700
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M sHIl=dH

M sENEMY

ool MRsKol SX (Sl &2
- _ _ NUE &
SH - EB - S(BH) - MBAY - BES 0l & 24 i BB
04 JIAHZR2RELS 9,000 9,000 0
ON=elIsl2st N 2= 750,000 * 122 9,000
2 6,300
2 2,700
sEszol Z2is 721,760 382,650 339, 110
2 92,200
z 130,000
= 2,900
& 5,510
, 2 491,150
SR ABAN A 53,050 42,050 11,000
202 01t 4,050 4,050 0
01 =2Uoib] 4,050 4,050 0
OME2s5 Ye=3 112,500 * 3% * 122 4,050
206 W& 49,000 28,000 21,000
01 T2 49,000 28,000 21,000
OsHY SHOISAIIA L3 3,500,002 * 1404 49,000
SEALZL0IS 200,000 50,000 150,000
z 70,000
2 130,000
307 BIZHOI 80,000 0 80,000
z 20,000
2 60,000
02 PIHAMBE 80,000 0 80,000
Os&ABT20IE 84 20,000,008 * 404 80,000
z 20,000
2 60,000
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M sHIl=dH

M sENEMY

o9l sEMEO B3 (69 & 2
- _ _ NUE &
SA-HH(BH) - HEAY - B Ofl AF o4 il it o HRZ2

402 QIR0 120,000 50,000 70,000
3 50,000
2 70,000

01 pIZTEEE 120,000 50,000 70,000
Os&EALT 202 84 30,000,000 * 4944 120,000
3 50,000
2 70,000

SE0A LRI HYXE 100,000 30,000 70,000
= 50,000
2 50,000

402 DIZHXHZ O 100,000 30,000 70,000
= 50,000
2 50,000

01 BIZTEEE 100,000 30,000 70,000
OOl SEL0IAS K& 100,000,008 * 174 100,000
= 50,000
2 50,000

METH JIBEY o SE20L S4 95,750 50,600 45, 150
= 1,900
= 1,850
2 92,000

201 L2y 27,950 17,950 10,000
= 1,850
2 26, 100

01 At 2l 27,950 17,950 10,000
oggragY| 17,750
—SEME2HR 22 AT R 8,500
~ MWL FEX M 25,0002 * 370 9,250
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M sHIl=dH

M sENEMY

Sl sEMEO 23 CERE
- _ — NUE &
SN HB L SA(3H) - MRAY - B S 0 & 2 i {ImEF]

307 CI2H0IH 2,960 0 12,960
= 7,200
= 2,160
= 3,600

02 SIHYA X 2,960 0 12,960
OSZHENS ARE HWSUE A 1,080,0002 * 128 * 1% 2,960
= 7,200
= 2,160
= 3,600

SRABANA BOIZY X 100,000 50,000 50,000
= 25,000
2 75,000

201 Yer2 gyl 3,600 0 3,600
= 900
2 2,700

01 At 3,600 0 3,600
osg+g 2,000
—SRYHANHBOIZY FRINS 2Y+E 10,0008 + 203l 2,000
= 500
2 1,500
oYx2 1,600
—=RUSANHBOIZHINBAY DEXEY LT 80,0002 * 23] 1,600
= 400
= 1,200

207 91Tt 0,000 0 10,000
=l 2,500
2 7,500

NEEET 0,000 0 10,000
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M sHIl=dH

M sENEMY

ool sEMEO B (e @
- _ _ XN -
SN-FH-SA(SA) - NEAY - BES Off & OH 01,‘35‘; HnsZ

SEEEEENEENEEEEEEE 5,000,0002 * 2744 10,000
3 2,500
2 7,500

301 YBrBAZ 4,800 0 4,800
=l 1,200
2 3,600

10 BAAHIEA2 4,800 0 4,800
OSXUSANCHOIZHINE DREAT HA2 40,0002 * 60% * 23| 4,800
3 1,200
2 3,600

402 Q12X 0|H 81,600 50,000 31,600
=) 20,400
2 61,200

01 QIARERE 81,600 50,000 31,600
OSXABLNLHOIFY N 40,800,0008 * 24 4 81,600
= 20,400
2 61,200

SELOXE 17,000 17,000 0
s 1,000
& 750
2 15,250

402 212X 0IF 7,000 17,000 0
2 1,000
= 750
2 15,250

01 QIARERE 7,000 17,000 0
OSZLMBNCIE S4 5,000,008 * 294 10,000
OS2 NSHEX 2,000,008 * 1744 2,000

_80_




SN
X XH .
S Tt

el

sgll=dd
SEN A

SEMES EH3

o

0
P
10

- EHRI(E) - NIRAY -

i
0z
Jo
>
2

2 (A

R

J2H
0l

M M

5,000,000& * 1JHA

EURCH

1,000
1,000

5,000

750
4,250

M oR

70,000

35,000
35,000

70,000

201 oly

M oR

3,300

1,650
1,650

3,300

01 At

100,000& = 93

H o

800,000& = 32

M oR

3,300
900

900
450
450
2,400
2,400

1,200
1,200

3,300

206 H

H o

2,400

1,200
1,200

2,400

01 TH
20,000& * 409 = 33l

M oR

2,400

2,400

1,200
1,200

2,400

301 €

-~

0k

4,800
2,400

4,800




SN
L SEX A

el

X ZH
(=]

sgll=dd

sEMao 23

o

0
P
10

_ _ _ SIEN= ~
M - (BAH) - NRAY - BES &hoY Ol & 0t S

= 2,400

10 S AHAH] 4,800 4,800
OsZ&H lle2g 484 40,0003 = 40 * 32 4,800
& 2,400
= 2,400

307 2120l & 29,500 29,500
= 14,750
= 14,750

02 BIAAYEX 29,500 29,500
OsEMggsszdy JIses 9,500,000& * 1JHZA 9,500
& 4,750
o 4,750
OsENgus s& 20,000,000& * 1JHA 20,000
= 10,000
= 10,000

402 SI2tXt=01& 30,000 30,000
= 15,000
= 15,000

01 2ItX=Ex 30,000 30,000
Osedguns s& 30,000,000& * 1JHA 30,000
= 15,000
= 15,000

StA Al 2t 70,000 70,000
= 35,000
o 35,000

307 G12+0lH 70,000 70,000
= 35,000
= 35,000
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M sHIl=dH

M sENEMY

o9l sEMEO B3 (69 & 2
- _ _ NUE &
SA-HH(BH) - HEAY - B Ofl AF o4 il it o HRZ2

02 PIANBAEE 70,000 0 70,000
ONUSESALYNE N 70,000,0002 70,000
= 35,000
2 35,000

A0l - SH DEI M 2,090,254 427,040 1,663,214
= 1,250
=l 100,000
= 344, 150
2 1,644,854

ANNES DB MadlE 23 1,946,754 423,240 1,523,514
= 1,250
= 322,650
2 1,622,854

101 24| 1,500 1,500 0

VIBEBTEES =R 1,500 1,500 0
OstgalLtel SEEA S20| X 50,0002 * 3% * 103l 1,500

201 L2y 2,150 1,900 250

01 Attt 1,150 900 250
ot 1,150
—saIUR 2RE HA 250,008 * 3% 750
—0ts, YMESS ZUIC, 218 S 10,0009 * 2% * 23] 400

03 A2 Y| 1,000 1,000 0
OB ML A S SA AT 2 500,0002 *2CH 1,000

202 Ot 0,400 10,400 0
=2 1,250
= 1,250
2 7,900
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SN

sgll=dd

M SENEZAY
GOl O - SH DB MA (S92 e
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
01 =LA bl 5,400 5,400 0
ORUASNSEYL J=E2 112,500& = 4% » 128 5,400
04 =Xzt 5,000 5,000 0
ORNEZHEEHE NESRE oA 5,000,000& * 1& 5,000
= 1,250
< 1,250
= 2,500
206 M=l 77,840 46,140 31,700
01 M=H| 77,840 46,140 31,700
Ozt atoittel ZEM K& 45,000,000& * 1JH2 + 0.6 27,000
OltssMMgz gt &H X3 25,000& * 10= * 200ha 50,000
Ot A0ILI2IE X AHISEEHAL BEEAAME HE 2 28,0003 * 102fA * 33 840
301 Lpt8asg 2,500 2,500 0
10 EALAHIE A = 2,500 2,500 0
Olts,2ll=sss WsEA B4 5,000& = 100¥ * 23| 1,000
O3U20F NEsIHLSEA 24 20,000& * 53 » 54 500
Ozt atiittel AHISEEA B4z 20,000& * 509 1,000
308 XX EHHSOIA 2,000 1,000 1,000
05 MXIEH2ARES 2,000 1,000 1,000
O&= Uts=4HXIZE s B2ES 2,000,000& * 13l 2,000
402 QI2HXHE=01M 1,850,364 359,800 1,490, 564
L= 321,400
i 1,528,964
01 It E2LEXL 1,850,364 359,800 1,490,564
OBFsSHER2A SEEATAIE XA (7000 L) 146,000, 000& 146,000
& 73,000
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A sYII=4dH
M sENEMY

OOl RO SR DEE MM ool mel
SN BB O (BH) - MRAY - BES 01l &+ o e =
= 73,000
Ol0ts, 21 59 MEHEX =4 160,000, 000& 160,000
OltsMZHESKNIAAY 95,000&* 132 * 45ha * 0.8 44,460
O&II2E0] XA 16,500,000& * 2004 * 0.4 132,000
& 49,500
= 82,500
O Ed =5=4t2 AT WIIX AY 12,500,000& * 2JH4 = 0.8 20,000
& 7,500
= 12,500
OE&=s EHIIASY AlY 10,000,000& * 1J0HZA = 0.8 8,000
& 3,000
i 5,000
O MU AU E=S SESLHAEY 6,000,000& * 392 = 0.8 14,400
& 5,400
= 9,000
OANE20 HHUA HESZAEY 10,000,000& = 10z = 0.8 8,000
& 3,000
= 5,000
OAABIRA QI B2EI Al 60,000,000& * 30ha * 0.5 900,000
OANEMA Nts SULH AlY 14,000,000 = 34 + 0.6 25,200
OANEMA Xts SI1E AlY 5,000,000& * 200HZ = 0.6 60,000
ONEMA RP=sAS=I DIMSHM Al 3,000,000& * 7ha * 0.6 12,600
OXSA DA 4 5,000,0002! * 34 * 0.8 12,000
OEZ ZSEUES AHAY 5,500,000& * tha * 0.8 4,400
OXNSAEMES(=HE) NEAY 7,630,000& * 1JH2 = 0.8 6,104
OANEA Old=E 2 ELEHMNE Ml Al 6,000,000& = 10ha * 0.6 36,000
OANAEBI2A S= EJNTHH Al AL 400,00081 * 3044 1,200
Ozt at0ILtel e Xl A8 XI& 80,000,000& 80,000
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M sHIl=dH

M sENEMY

el ROl SR DED MM (el @e
- _ _ NE
SA B (BH) - MRAY - B2 Ofl &+ 04 il it o Hnz2

OWEIX A2 ST X (WA AFL) 80,000,00020 * 144 * 0.625 50,000
= 50,000
OUZOISLEI2IHATHENAIE KR (HRA2IA) 100,000,002 * 1944 * 0.7 70,000
= 70,000
OBMOIS DISAXE Al NB(HEAIALY) 60,000,008 * 174 * 0.5 30,000
= 30,000
OROI K202 OHSATE AL KR (HEAIAR) 10,000,002 * 50 * 0.6 30,000
= 30,000

NASEHAS (HASR) 140,000 0 140,000
3 100,000
= 20,000
2 20,000

402 PI2AX 201 140,000 0 140,000
3 100,000
= 20,000
2 20,000

01 UARELE 140,000 0 140,000
OHAZE L HXSLAL AN 200,000,002 * 0.7 140,000
3 100,000
= 20,000
2 20,000

T A S EHOHE M ALK 2 3,500 3,800 A300
= 1,500
2 2,000

201 LByl 3,000 3,000 0
= 1,500
2 1,500

01 AtRZ2lt| 3,000 3,000 0
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M sHIl=dH

M sENEMY

el DpaAre) AW s (ct9: & 2
SA - EE - SRI(EA) - NRAY - BES 0l &t e B D52
= 1,500
301 et ez 2,600 2,700 A 100
= 2,600
10 SAAHIEAS 2,200 2,300 A 100
OB+MYUSH DS BHT 24t 5,002 * 100% * 23 1,000
2 1,000
Olt=ftdsd dAXAS AL 24 30,0008 * 40¥ * 13l 1,200
= 1,200
12 JIEtE A= 400 400 0
A HdSOtUs & ALY 2MeE 200,000 * 23 400
= 400
Lo E RS PP R L N 273,750 124,290 149,460
S 1,760
= 271,990
101 Q1244] 19,800 18,540
04 JI2tHZ =2 Xt 19,800 18,540
O=3H M tH 2 33,000& = 5 * 120& 19,800
201 Ypte ™ 1,500 1,500
01 AtR 22 1,500 1,500
oger 1,500
— == 3,000& = 1008 * 53 1,500
202 O 4,050 4,050
01 ZUH0iHI 4,050 4,050
Om=3a3l Jlse 112,5002 * 3% * 128 4,050
206 M= dl 20,000 20,000
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M sHIl=dH

M sENEMY

CHl DAt ZME EA (cHol:m @
- _ _ NE
SN HH - C(B) - MBEAY - BES Ol &F o4 Gl b8 HRE2

01 M=H| 20,000 20,000 0
O=325 & N+ 2,000,000& = 105 20,000

301 LptEaazg 1,000 1,000 0

10 EALAHIBAS 1,000 1,000 0
OBtBIMLSHMIIZRE AT B4 5,002 * 100 * 23l 1,000

402 I X201 227,400 79,200 148,200
& 1,760
2 205,640

01 QA GEEX 227,400 79,200 148,200
OsfZs I3g =A 223,000,000& 223,000
O==d38 ZIIF XN& 8,800,000& * 0.5 4,400
& 1,760
2 2,640

SRS LT 124,950 124,950 0
= 35,700
i 89,250

307 212t01& 124,950 124,950 0
& 35,700
= 89,250

06 23 124,950 124,950 0
OsZ=Mol 22 XA At 178,500,000& = 0.7 124,950
& 35,700
2 89,250

OO 338,002 0 338,002
3 169,000
& 50,666
2 118,336
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= 14,800
& 59,697
= 1,142,145

SIAHS A 346,108 313,880 32,228

101 14| 16,978 11,126 5,852

04 JIZtHIZ22 a2+ 16,978 11,126 5,852
OsJlHgH=d 23 16,978
—Jl2s 46,5008 » 18 = 200 13,485
— R8s 46,5009 * 198 » 41 1,907
—4AEE = 15,392,000& * 0.103 1,586

201 LetEIH| 162,230 77,854 74,376

01 AtE22/Hl 87,412 44,940 42,472
Ogt=2H| 7,412
—SJIH SUAIY cl=3 M 400% = 3,0000H 1,200
—SJIH 2UAIYE D 2ets 9 132,000& » 38 * 12& 4,752
—sJIH =2 SHO0IX MHOIE= 80,000& * 123 960
—sJIH ALY e JE 500,000& * 14 500
Oogxt= 80,000
—sJ|H A 28t Xt 100,000& = 8002l 80,000

02 25234l 64,818 32,914 31,904
Oz322= & HAl 23,811
—NJIe=a 1,851
SUAIYE &0 JI== 1,0702 *14KW * 35  12€ 540
LAY &0 AHE= 36.43& * 1,000kW » 35 = 123 1,311
—AUAME XIAHX EE= 150,000& = 104 ~ 128 1,800
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—J ALY EHl EEE 12,000& * 140CH = 128 20,160
OAl & &EHI= Xl 41,007
—JUsIIAH, uEESE sIIAH =X 200,000& * 200CH 40,000
—sJIHSUAYE &1 || 1,017& * 330m" = 3CH 1,007

206 M=l 2,000 2,000 0

01 M= bl 2,000 2,000 0
OsJIHZ UMY 7 & a2 20,000& * 1005 2,000

401 Al&HI YL S OHYI 70,000 100,900 30,900

01 Al&H| 70,000 100,000 A 30,000
OsSIIASUAEE clZE £X 35,000,000& *1 CH 35,000
OsJIHSUAMEE Ade &X 35,000,000& * 1CH 35,000

405 KHaHFESHI 104,900 122,000 A17,100

01 T =SS HSHI 104,900 122,000 A17,100
OsJASUASE olsA oz 2 2,300,000& 2,300
OsJIHYdUSH AIRA HE D 2 1,000,000& * 1CH 1,000
OsJIAZH=8 2M MEHI 7Y 600,000& = 1CH 600
OsJIHEUz2d AIRA D8 FY 1,000,000& 1,000
OsJIHSUHAIY 2185 7 100,000,000& 100,000

SIIAH K& 633,360 517,210 116,150

201 B3| 6,410 6,410 0

01 AtR22iHl 1,450 1,450 0
Ogt==2H| 250
—sJHusEd 89 MH 50,000& * 50H 250
ou=u 1,200
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—sJ|H=3 2 ¥ L=l 100,000& = 4% * 33l 1,200

02 =234l 4,960 4,960
(@) K=3:] 4,960
—SIAHANRA = 6,000& = 2CH * 80 960
—SIAHLNSE & 2,000& » 100CH = 20 4,000

202 O4Hl 5,400 5,400

01 =AYl 5,400 5,400
OsJIH K& H2F 112,5008 = 4% + 128 5,400

203 ¥R =& 550 1,000

03 AZFIHRFAH| 550 1,000
OsJIH=slwel YR 550,000& 550

206 M=l 84,000 84,000

01 M= bl 84,000 84,000
OsJIH=slse 257 10,000& = 8,000& 80,000
OsJIHEg el 87 20,0004 * 2008 4,000

301 YptEag 1,000 1,000

10 EALAHIEA S 1,000 1,000
OsJHUSEAN 24 50,000& * 209 1,000

402 BI2H 201 536,000 419,400

01 It EEX 536,000 419,400
Oosg32l 22 105,000, 000& 105,000
O&HI&ZEI 22 168,000, 000& 168,000
OFE=ED B33 4,500,000& * 30CH = 0.4 54,000
ONsSELNI =2 4,000,000& = 60CH = 0.4 96,000
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Oonts% 2l N3 20,000, 000& 20,000
Olts==&J1(&2718) 2= N 1,500,000& » 60CH = 0.4 36,000
ORJIZEHAR) S5 A& 3,000,000& = 30CH » 0.5 45,000
O=sE4I28 2= X& 2,000,000& * 1501 = 0.4 12,000

SIHANSES AL 34,794 29,720 5,074
= 14,800
= 1,697
= 18,297

201 2Bt 2,194 0 2,194
= 697
= 1,497

01 AtR2teld] 800 0 800
ogxtz 800
—=M SYIIHUES =S St 800,000& = 1CH 800

02 3323l 1,394 0 1,39
OAlI&€ EHIRXId 1,394
—sJIAHEdE & =Xl 1,394,000& 1,394
= 697
= 697

202 O 1,000 0 1,000
= 1,000

01 =LHOYI 1,000 0 1,000
OsJIAXNE d2x=8 100,000 = 1& * 108 1,000
& 1,000

206 M= dl 3,400 2,000 1,400
= 700
= 2,700
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OSJIASROISI=DE T 1,400,0002 1,400
= 700
= 700
OsIIAHHA WL 2,000,000 2,000

301 LeHE AR 2,200 1,120 1,080
= 1,100
z 1,100

10 AR 2,200 1,120 1,080
O=H 30,0008 * 453 1,350
= 675
z 675
OSIIAHSR0IZIENE SAIM 5,000 * 170% 850
= 425
T 425

405 XtotE S| 26,000 26,600 600
= 13,000
= 13,000

01 RAUSEFH S| 26,000 26,600 £600
OHEMIIE SIIHEAT PY 6,000
—HY=HZI L HAHD 6,000,0008 * 14| 6,000
= 3,000
z 3,000
OX%Ss sIHERY 7Y 20,000
-5 20,000,0002 * 1CH 20,000
= 10,000
= 10,000

UEY SAH 202,380 220,270 A 17,890
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SRl S HE ALY (St =)
_ _ _ NH
2MN-Z3H-AA(ZH) - MIRAIY - HES Ol Ao 07“%@ o m =S
[ 58,000
= 144,380
206 X 24l 28,380 28,000 380
01 24l 28,380 28,000 380
OsJIH NssH)| 22X 220,000 * 129CH * 1.0 28,380
402 DIZ2HRH=0| A 174,000 186,660 A 12,660
[= 58,000
= 116,000
01 QI2R=2EX 174,000 186,660 A 12,660
oB#s 2D 22X 2,000,0002 * 290CH * 0.3 174,000
[= 58,000
= 116,000
RS (sSII=HE) 1,350,000 0 1,350,000
HEHHX S (sHII=HEH) 1,350,000 0 1,350,000
LIEHSHXI S (s =HEH) 1,350,000 0 1,350,000
404 ZI|AN=2MEZ 350,000 0 350,000
01 2IIYELHZHN=2EESZ 350,000 0 350,000
O=EEL ZESNFFAILE =8 =01 350,000,0008 * 1Al 350,000
702 JISHES 1,000,000 0 1,000,000
01 JI2HE=2 1,000,000 0 1,000,000
SEXNYLAI|Z 1,000,000,00024 1,000,000
HYE2AEH (=sI24H) 221,961 227,255 A5,294
OH2IHI(=sI|sdH) 67,673 71,907 NA4,234
ol (sglls4dH) 20,360 26,620 AB,260
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203 HRF&HI 14,960 18,220 A 3,260

02 HAINMMARFEHI 2,360 2,320 40
O IAH R = 40,0003 » 59¢ 2,360

04 FN2ILRFAHI 12,600 12,600 0
O=gdX 350,000& = 123 4,200
OF4t 350,000& = 123 4,200
O=sgJi=u 350,000& = 123 4,200

204 X R A 5,400 8,400 23,000

01 Mg PP AH| 5,400 8,400 23,000
Ox% 150,000& = 12& 1,800
O 100,000& * 3H = 12& 3,600

2| oI F e 47,313 45,287 2,026

101 14| 47,313 45,287 2,026

03 RIIHAZZXNE = 47,313 45,287 2,026
OsI1 A==l At 28,417
—Jl2= 46,500% » 1H = 300 13,950
— 2=t 3 13,950,000& * 0.10 1,395
—Jl&==g 13,950,000& * 4/12 4,650
—A2AZ R 8,720 * 20Al2+ « 12& 2,093
—Re5gsY 46,500& » 52¢ 2,418
—HXREsItrY 46,500 * 21 977
—Jl2g24 25,483,000& = 0.018 459
—dHEEE 25,942,000& * 0.026 675
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Oget=gH| 23,600, 000& 23,600
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— LA 50,000& » 2H = 112¢ 11,200
— =2 50,000& » 1 = 365¢ 18,250
O= &l 38,940
—sSgEMY 5,0008 » 20H = 11 « 128 13,200
— =4k 5,000 = 178 » 11 « 123 11,220
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